ED-113

M.Com. 3rd Semester
Examination, March-April 2021

Paper - III

Advance Cost Accounting

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16
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Note : Answer all questions. All questions carry equal
marks.
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What do you understand by Cost Accounts ?
What is their utility to a producer ? Describe

the benefits from Cost Accounts.
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What is ‘Economic Order Quantity’ ?
How is it calculated ?

(b) X Suiw & fou frAfafea eiwe feu
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The following data are given for
component X :

Normal usage 50 units per week
Minimum usage 25 units per week
Maximum usage 75 units per week
Re-order quantity 400 units
Re-order period 4 to 6 weeks

Calculate minimum level and maximum
level for component X.
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ST / Unit-11
2. 99 AN SRl sl YUid: HHHART |

Explain fully the system of labour cost.
37947/ OR
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What are overheads? How are they
classified ?

THE / Unit-111
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(b) FET T AT
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(d) "It B1g |

Write short notes on the following. How it

will be treated in contract accounts ?

(a) Work certified
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(4)
(b) Work done but not yet certified

(c¢) Issue of plant to contract

(d) Materials in hand

374l / OR
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The Indian Transport Company maintains a
few motor vehicles. From the information
given below, prepare cost statement showing
cost of operation per k.m. for the month of
April, 2019 :

F
Wages for the month 15,000
Petrol consumed for the month 10,500
Oil consumed for the month 1,220

On 1.4.2017 the cost of the vehicles was
¥3,00,000. Charge depreciation on reducing

instalment system at 25%. The vehicles
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covered a trip of 20000 k.m. during the
month. Estimated annual expenses were as

follows :
F
Repairs 46,800
Tyre-Tube expenses 36,000
Licence, Insurance etc. 37,500

Rent & Rates of the Garage 22,750

Miscellaneous expenses 75,000

TH1 / Unit-IV
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S EgE ARl o IR § YA Wi
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Define and explain the terms ‘Joint product’
and ‘By-product’. Enumerate the methods
which may be employed in costing ‘Joint

product’.
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Modern Brothers uses a patent material in the

manufacture of a product. Its manufacture passes

through the three procesess. Figures related to
manufacture for the first-three months of 2014-15

are as follows :

Process X Process Y | Process Z
Productive wages
and expenses ¥ 1,44,000 ¥ 80,000 ¥ 21,000
Loss in weight 5% 10% 20%
Raw material
introduced 2000 units
Cost per unit 3200
Scrap 100 units 60 units 120 units

Sale price of scrap

Sale price per unit

¥ 50 per unit

7400

¥ 50 per unit

7600

¥ 50 per unit

71,000

Two-third part of process X and half part of

process Y are passed on to the next process

and the balancing part is sold. On the basis

of given information prepare process accounts.
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What is Budgetary control? Discuss the
necessary steps which are taken for its

installation.
37947/ OR
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T B Ol 99 o fAu fashg Ose on:

A 3] B3]
(3epTEAN) (3eTEAN)
X favm 300000 400000
Y favm 562500 600000
7 favm 180000 20000

qeft faurti # fosra qoa 4 91 B 1 HEW:
T4 IR T2 T A8 79F ® R fora dfs
F YO T FH W B SARE & Ot X
fawmr # 175000 TEA € GG W Ig
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ThEAl 9 Afue g S|y favm
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Pratibha Ltd. manufactures two types of
product 4 and B. The company has three
departments for the sales in different areas of
the country. The sales budget for the year
ending 31st March, 2015 were :

Product 4 Product B

(units) (units)

X Department 300000 400000
Y Department 562500 600000
Z Department 180000 20000

Sales price are ¥4 and T2 for 4 and B
product respectively in all departments. It is
estimated that by intensive sale promotion the
sale of productB in Department X will
increase by 175000 units. It is also expected
that by increasing production and arranging
extensive advertisement Department Z will be
able to increase the sale of product B by
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50000 units. It is recognized that estimated
sales by Department Y represent an
unsatisfactory target. It is agreed to increase
both estimates by 20%.

Prepare a sales budget for the year ending
31st March, 2015.
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